—— 3) Consider a function f : R — R such that

| f(w):{%zg -1<zx<2

0 otherwise
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- 4) Consider a function f : R — R such that
— | cx® a<z<b
f(z) = {0 otherwise
_ Which of the following combinations of a,b and ¢ will make f a valid density function?
— 0 a=-2b=1landc= 1—40
— Va=1b=2andc= 4
0 a=1Lb=2andc= &
v a=2b=3andc= L
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5) The probability density function of a random variable X is given as

01 0=<z<1
— cx l<z<2
— 0 otherwise

Find the value of P(1 < X < 2.5).
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Consider the following probability density function fx of a random variable X to answer the questions (6), (7) and (8).

0 otherwise

f.\'(l') — {A'r 0<z<1

7) Find the value of P(0.5 < X < 0.8). (Write your answer correct to two decimal places.)
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8) Find the value of F'(0.5) where F is the CDF of X . (Write your answer correct to two decimal places.)
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